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QUESTION 1

Which of the following best describes the reason for CPU pinning?

A. To ensure that a VM is assigned to high performance CPU cores.

B. To ensure that a VM\\'s CPU cores area all allocated on the same NUMA node.
C. To ensure that a VM is assigned to a compute node with adequate resources.
D. To ensure that a VM is assigned a sufficient number of CPU cores.

Correct Answer: A

QUESTION 2

Which of the following statements regarding CMM internal IP management (IIPM) is FALSE?
A. lIPM manages reachability between CMM VNF components.

B. IIPM monitors connectivity over two vNIC ports when two internal networks are used.

C. With lIIPM, broadcast messages are sent periodically between VMs.

D. IIPM uses BFD to provide a fast switchover in case of an internal reachability failure.

Correct Answer: C

QUESTION 3

Which of the following is NOT a component of the CMM virtual network function?
A. Load Balancer (LB)

B. Packet Processing Service (PAPS)

C. Network Element Cluster Controller (NECC)

D. Database Service (DBS)

Correct Answer: A

QUESTION 4
Which of the following lifecycle management operations is NOT supported by the CMG?
A. Scaling of OAM-VM

B. Scaling of MG-VM in LB mode
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C. Scaling of LB-VM in LB mode
D. Healing of OAM-VM, MG-VM and LB-VM

Correct Answer: A

QUESTION 5

Which of the following lifecycle management operations is NOT supported by CMM?
A. Healing of all CMM VMs

B. Scale out of CPPS, PAPS, and IPPS VMs

C. Scale in of NECC and IPDS VMs

D. Instantiation of all CMM VMs

Correct Answer: C
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